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(English Versio®

Note:

() Firse 15 minutes are allotted for the candidates ©° read the question paper-
(i)  The question paper is divided into two parts —Part A and Part B,

(iii) Part A and Part B are divided into three sub*¢*"*"$ 1, 2and 3.

(iv) In Part A of the question paper, there are Multiple ChOiCe Type Questions. Select the
correct alternative and then by q plyue or black ball point pen, fill completely in the circle
‘' OMR Answer-Sheet. Do not ergge, 'CUt OF use whitener on the OMR
Answer-sheez after answering,

(o) 1 mark is allotted to each question in the multiple choice type questions of Part A.

(i) Part B pqs descriptive questions.

(vii) The allotted marks are given in each, Question

(viit) All the questions of Sub-Sections of .
Part tobe att -
Sub-Section from a new page. B are attempted all at a time. Start each

(ix) All questions are compulsory.

Part A
Sub-Section'1

Multiple Choice Type Questions :

1.  The image formed by a convex mirrorisalways : | 1
(A) between the centre of curvature aud the focus
(B) between the centre of curvature ad infinity

(C) between the pole and the focus
anywhere, depending upon the position of the object

(D)
2 When light rays move away from the pormal while going from one medium to
another, then they move from .
(A) a denser medium to a rarer mediu®
(B) a rarer medium to a denser mediv®
(C) a medium of low refractive inde* to a medium of high refractive index
: medium
(D) a transparent medium to an opadVe
P.T.O.
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is 16 em, The image of an Abject. Plﬂce_d 80 em

5
] The fbeal lnnllth Or; convox lor
fll bo:
OlWOl,V fYyom JonA “;::i Oftho o ’ige a8 the Object at 30 cm tOWBTdB the object
B “’"":t:,d’ of tho sam® #i20 8 the object at 30 cm on the other side of
() Roal, invertod ‘
) ﬂl\ij"‘ ortod, of tho samo pis® 28 the object on the other side of object at
) Ronl, invortod,
1 ] .
oo of the same gish 88 the object at 15 cm towards the object

U)) Vhﬁtunl, Orocti
gh 8 Prism, the colour of the emergent light

4. Whon whigo light passes throu

distunt fyom the base of prism i8 :
(B)  Yellow
(A) " Red D) v
(©  Blue Violet
8. Ampere-second is the unit of :
(A)  Eloctrical energy (B) | Electromotive Force (e.m.f.)
(C)  Charge (D) Electriccurrent

Two wires of resistances R, and fig 8T€ connected to'a cell in parailel. If the

currents flowing in them are i and ig"gnd the heats produced in ther are H;

and Hy, respectively per gecond, the ratio (_)f heatis:

H, R
a H_ERe
) &, "R,
@ S_R
Hy R,

.2

o H_Y
Hy, {2

2

o L.k
Hy, "1

7. Unitof intensity of magnetic field g -
. (A) Newton/Ampere.metre2
(B) Newton/Ampere-metre
(C) Newton-Ampere.metre
. (D) Newtonz/Ampere-metre
824 (1)
8
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8.

10.

11,

12.

13.

Sub-Section 2

The structural formula of methane is :
e 1
(A) H-C-C-H ® HB-C-H
U H
H H
H H
© | H-C=C-H
H — C = C _ H (D)
The homologous series in the following i3 :
(A CoH,, CHy
(B) CH4’ C2H6
(C) C,Hg CH,0H

| (D) C2H4’ CZI{2

Chemical formula of Lead Nitrate is :

(A)  Pb(NOg)y- (B)' «PbO

(C) .Pb(NOy), D) PbNO;

The pH value of pure water is : .
A 0 B) 1

©c 7 - (D) 14

Antimony is : | 1
(A) Metal (B) Non-metal

(C) Metalloid (D) Alloy

Complete the following chemical equation : I
CH,COOH + CoHs0H 7{%5%" ———+H0

(A) CH3OH

(B) CyHsOH

(C) CHzCO0CgHs

9
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ﬂb,ﬂﬂ“rtllm 4

rnb'd‘
14. En‘.rgy curreﬂcy in C‘!”Ulﬂf 4 (H, A,rp
0, Pyruvate

(C)  Glycose
16.  Bile juijce is secreted by : ‘B) fiver
(A)  Gall bladder D) o
(C)  Pancreas
18. Pollen gac contains :
(B) ()vary
(A) Sepals
: D) Pollen grains
(C)  Ovules
17. Buds on leaf developin
By Potato
(A) Mint
(
P '(D) All of the above
18. Example of unisexual flower is *

(B) Flower of Rose

(A) Flower of Papaya
D) Flower of Mango

(C) Flower of Mustard

19. Normal blood pressure of a healthy human i :
(C) 135/100 (D) 125/115

(A) 140/80 (B) 120/80
20. Which of the following constitutes a food chain ?

(A)  Grass, Wheat and Mango

(B)  Grass, Goat and Human

(C)  Goat, Cow and Elephant

(D)  Grass, Fish and Goat

‘24 (W) 10
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S Pary B
. tive questions . ub“Section 1
rip
pes’

The ;mage formed of an

ObJ

ect 5 .
the length of the objey D 8 a distance of 25 cm from a convex mirror is half

eterm: . . .
(ii) the focal length of t mirrmme (1) the distance of image from the mirror, and
or,

(i)  In the absence of al
. €DS, where 4, the rays focus ? The focal length of lens
1s 30 cm. :

How can the three res; |
23 Sistances 2 3 o and 6 Q be connected, so that (i) total

ist : : N
resistance of 4 Q is obtamed, and (ii) tota] resistance of 1 Q is obtained ?

W, Write (i) the name; (ii) working, and (iii) colours of the insulation of the wires

used in the domestic electrical distribution.
OR~
On which factors does the magnetic field due to a current carrying conductor

depend ? Write and explain the name df the law used to find the direction of the

magnetic field.
Sub-Sestion 2

25. Write the Structural for
i) Ethanoicaci
(ii) Methana!
(1) 1-Chloropropane

e .
(iv) Nitrometh s write its two applications.
e
ctrochemlcal gerl . the names and uses of two main alloys
: in e - y
26. () Expla”® u mean by alloys 242
do YO°
() What
of copPe”
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mulae of the following compounds : 1+1+1+1=4
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(b , of carbon,

hort note on valent! .
moiecu)ay Wh=
hemical name Bud formula of baking I""'"j‘:r
1 ted ? 2-3.3-¢
ns when baking powdef -

s
G Writé e

. I _5_.9_p
rite

ouble displacement reaction

4 D
(i1) Neutralization reaction
(i) Addition reaction

Sub-Section 3
o8, Draw a labelled diagram of structure of Neuron and describe its fopcgods. 9.3

99, What do you mean by sex chmmﬂyom% ? Explain the process of sex
determination in humans. a9y

30. Wnie-dewn four differences between producers and consumers. 1+1+1+]=4

31. Describe the structure of human heart with the help of labelled longirudins!

section diagram of the human heart. ™ D f=h
OR
Describe the female reprodyctive system of hu.m an beings with disgram. 3436
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